
बजेट

ah]^

1 ;d'x u&g tyf kl/rfng ;d'x

2

;ldlt u&g / kl/rfng lgu/fgL ;d'x ;d]t -

cg'bfg_ ;ldlt 5000

3 ;d'x ;b:osf] cg'lzIf)f 3 lbg] a:tL:t/ hgf 31000

4 cfwf/e't tflnd 7 lbg] kflnsf:t/ hgf 176000

5

dlxnf ;xsf/L ;+:yf / ;d"x /;ldltsf cWoIf 

;lrj dfem cGt{lqmof hgf 35000

;fdflhs s'l/lt tyf s';+:sf/ - %fpk*L _ k|yf 

lj?$  ;r]tgfd'ns sfo{qmd a:tL:t/ 200000

hDdf 447000

बालबाललका

1 afn Snj u&g tyf afn clwsf/ ;DaGwL cled'vLs/)fk^s 100000

2 afnljjfx lj?$sf] cleofg sfo{qmd k^s 240000

3

jfnjflnsf dflyx"g] b)* ;hfo lj?$ sfo{s|d 

cfwf/e't / df=lj= tx k^s 330000

hDdf 670000

ckf+utf tkm{ 

1

ckf+utf kl/ro kq ljt/)f sfo{ljlw ;DalGw 

hgk|ltlglw / j*f ;lrjx?nfO{ cled'lvs/)f 1 

lbg] hgf 100000

2 ckf+utf ;DaGwL ;r]tgfd'ns sfo{qmd 100000

3

ckfu+tf ePsf JolQmx?sf nfuL ;xfos ;fdfu|L 

vl/b k^s 250000

4 ckf+utf kl/ro kq ljt/)f ;\jf:Yo lzlj/ ;~rfng 600000

जम्मा 1050000

cGo sfo{qmd

1

cGo lbj;Lo sfo{qmd- cGt{/fli^o dlxnf lbj; 

,n}lËs lx+;f lj?$ sf]] 16 lbg] cleofg, 

cGt{/fli^o ckfu++tf, नारी lbj;_ k^s 200000

2 cg'udg d"Nofs+g tyf e|d)F vr{ 200000

hDdf 400000

2567000कुल जम्मा

बराहताल गाउँपाललका

मलिला लिकास शाखा

dlxnf ;zlQms/)f tkm{

qm=;= sfo{qmd / lqmofsnfk OsfO


